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R VzFrsa)-77 ¢ 150 ] m 2.8
EEa" VN ¢ 150 HH 4
B R DCIP ¢ 150 1] m 1.9
AR ER Y- W=150mm 20 P1iA m 1.9
ay))=p 18N-8-40BB m3 0.1
T — AR, ESREY m?2 0.6
By RC-40, t=10cm m2 0.3

6. fid K& AEF HPPE ¢ 150




# H i
7" V=yzyh
HPPEE ¢ 150X 5. 0m A 4
EF %~ Vb ¢ 150 X 45° 1 1
EF W5z~ Vb ¢ 150 X 45° 1l 2
EF W5z~ Vb ¢ 150X 11 1/4° 1l 2
EFF-2" $ 150X ¢ 75 & 1
EFY )y b ¢ 150 ] 2
750" $ 150  (E1)7. 5K 1l 1
KWK BT ¢ 150X ¢ 150 (V) PE] 7. 5K {E 1
SUS304 BN REA" y%v
770y B ¢ 150 7.5K #i 1
77 VY R— b ¢ 150 #i 1
BRI HPPE ¢ 150 m 16. 4
nr=74v )" 4% m 16. 4
FHF-b W=150mm 2% H7iA m 16. 4
7. KRB HPPE ¢ 100
FFE OB ¢ 100X5. 0m AR 19
7" V=yzsh
HPPEE ¢ 100X5. 0m A 3
EF[ii %2 F-2" $ 100X ¢ 75 1l 1
EFY )y b ¢ 100 1 2
EF A /1 ¢ 100X 45 1 3
EFfii A"/} ¢ 100X 45° 1l 5
EF77/Y° ¢ 100 JB1) 7. 5K & 1




# A 1
PE #f L 0447 -t 5 $ 100 P 2
)7 b= 5 ¢ 100 H& 1
N A ¢ 100X 100 (FA) DIPH 7. 5K H& 1
AWK H 5 ¢ 100 (DIPH) B 1
AV a4vh ¢ 100 (PEFH) 1 1
lizaera ¢ 100 (PE) 1 2
lizaera ¢ 100 (DIPH) 1 1
KIE 52k B4 i (3DKNA) ¢ 100 W
ERE VU ¢ 200 m 99. 1

SUS304 BN GEA" y%v
770y B $ 100 7.5K #i 2
BRI HPPE ¢ 100 m 110.5
nr= 40" 94%= m 110.5
FHF-b W=150mm 2% H7iA m 110. 3
avy)=h 18N-8-40BB m3 1.0
IR T R, SRS m2 9.0
SRR RC-40, t=10cm m2 7.0
T F AN —H— F25 1l 112
5 F 22—t — 2" A=} 85 X 350 X t2 1l 56
8. /K& L HPPE ¢ 75
FFE OB ¢ 75X5.0m A 1
7" V=yzyh
HPPEE. & ¢ 75X 5. 0m ()4 J) N 2




H ]
EF/4y b 675 1
EFi 52 F-2" ¢ 75X ¢ 50 ]
BFj 52" v} ¢ 75X 45" ]
I $T5X22 1/2° ]
PE 4 L 0 f+)7 bv-mft-g 4 ¢ 75 s
MY a4V b ¢ 75 PEM ]
AIEFv 97 975 PEA 1
B RT-T HPPE ¢ 75 ] m 12.
ny=74)" I4¥= m 12.
EIRERY-] W=150mm_2{%H1iA m 12.
9. PEURE b B
VP-RRE ¢ 50 X 5000 A
HIVPAE (B)%& 1) ¢ 50 X 4000 S
EF/4y b 675 1
I ¢ 50 ]
PE 4 L 0 f+)7 bv-mft-G 4 ¢ 75 s
n $ 50 s
)7 b= Fp ¢ 75 s
Y s AV T & 75X ¢ 50 (PE X VP) ]
AIBA v ¢ 50X 90" (HPPE X VP) 1#
BN ¢ 50X 45" (VP) ]




# i
AN VY $50x22 1/2° (VP) ] 2
ATy ¢ 75X ¢ 50 (VP) i 1
k7 ¢ 250 DIPA 1 1

n ¢ 100 DIP/H 1l 1
77 VY R— b ¢ 75 #i 2
KISk &1 (3DkNH) ¢ 250 1 -

I (3DKNHH) ¢ 100 ] -
BB 1E 4 B ¢ 50 RRH] 1 3
KWK G5 ¢ 250 DIPA B 1

I ¢ 100 DIPSH H 1
FE v g kAR ¢ 250X ¢ 50 DIPEJH 1 1

I ¢ 100X ¢ 50 DIP% i 1 1
170 EE M $ 75 7.5K SUS304 BN GFr vk bl 92
HIzVA ¢ 50 1l 12
HI53 kKo b ¢ 50 1l 2
TTAVaA b ¢ 50 fi# 4
AR — L IEk e ¢ 50 & 2
FHFY-b W=150mm 2% HriA m 38. 1
/)b 18N-8-40BB m3 0.03
ML R, SRS m?2 0.4
HETen RC-40, t=10cm m2 0.2




fii

10. Fd KB A 7% T. DCIP-GX ¢ 250

FEA8 )
RS AR T ¢ 250 m 160. 9
RS
GXIEAE T T ¢ 250 0 31
SR
] b 250 m] 26
SR
] $ 200 5] 1
SR
] & 150 5] 1
RERR P
Ph=h Vi ¢ 250 =] 1
750y EE 6 250 7.5K 5] 6
GXJE Ak T4 AN T $ 250 m] 14
Bl - 8N T
FEERAE D) T b 250 234 THIWTEE 5] 11
RGN T 2
U ¢ 250 23A FHIHTEE m| 3
fEE RS T ¢ 250 P 5
AR AGE G T $ 250X ¢ 250 DIPH] £ T 2
AWK R ERE T 6250 DIPH] (00 1
NS ECE
ERIT R E L ¢ 25 H 1
BTV A -7 W E T 6 250 m 80. 4
BWRT-7 L DCIP ¢ 250 m 175.5
HERF R Y — MRS T W=15cm, ¥ 7"V, 50m/% m 174.6
) xFv EAER T WEETA 250A m 17.2
ARG QOHET)
&) afy EREE T ¢ 250 f5 T 18
AR SR e T ¢ 2501 (&0 4




® A ”
BATES AR T ¢ 2501 (00 2
EF 20fkF
BTV R T 675 (&0 1
TR AL oV A R T VU ¢ 400 m 63.8
BV IEIA SREH m3 4.0
11. Be A& A g% L DCIP-GX ¢ 150
FEA8 )
RS AR T ¢ 150 m 1.9
SR
GXIEAKF T ¢ 150 m] 3
INLESAZZI AR % - ¢ 150 m 1.9
R L DCIP ¢ 150/ m 1.9
HERF R Y — MRS T W=15cm, % 7"V, 50m/% m 1.9
12. il k& 4ig% T. HPPE ¢ 150
MAEHES
) xFv B R A T ¢ 150 m 16.8
ARG QOHET)
BTV R T ¢ 150 (&0 2
ARG (10HETF)
n ¢ 150 T 11
797y HEFE L 6 150 7.5k m] 1
S A 2 = a )] 6 150 n 6
AR AGE G T ¢ 150X ¢ 150 PE & T 1
R L HPPE ¢ 150 m 16.4
HERF R Y — MRS T W=15cm, ¥ 7V, 50m/% m 16.4
13. fid k& Aig% T. HPPE ¢ 100
MAEHES
) xFv B R A T ¢ 100 m 110.5




# H il
ARG QOHET)
) xFv BT T ¢ 100 £ T 3
ARG (10HET)
n ¢ 100 T 33
Fh=h vk T
] $ 100 m] 4
A=hVRET B L
] $ 100 m] 2
RERR P
A= Vi ¢ 100 =] 1
757y T $ 100 7.5K m] 2
SN2 =0 7) ] $ 100 n 7
fEE RS T ¢ 100 P 3
AR AGE G T $ 100X 100 DIPH £ T 1
AWK B SR E T $ 100 DIPH] (00 1
R L HPPE ¢ 100 m 110.5
HERF R Y — MR T W=15cm, ¥ 7 W, 50m /% m 110.3
TR AL oV A T VU ¢ 200 m 99. 1
ViV IEIA SREH m3 2.0
14, BdKE A% T. HPPE ¢ 75
MAEHES
BV RN T ¢ 75 m 12.0
ARG QOHET)
) rFv BT T 675 £ T 3
ARG (10HETF)
n ¢ 75 {5 Ft 7
Fh=h vk T
l ¢ 75 8] 3
B ) xFv B E T ¢ 75 n 6
fEE RS T ¢ 75 P 2




% il
R L HPPE ¢ 754 m 12.0
MR FRoR Y — PEUT T W=15cm, ¥ 7 W, 50m /% m 12.0

15. HEVRE A g% T
RS AR T DIP ¢ 75 m 0.3
B BN T HPPE ¢ 75 m 0.7
AL sV R AE T HIVP ¢ 50 m 37.1
Akt =V Bk T HIVP ¢ 50 = 23
RERR P
ARk TE T 6 250 =
RERR P
] $ 100 5]
VP
I ¢ 50 u] 11
73V kT T ¢ 75 m] 2
BhE 20
BTV R T 675 (&0 1
A 20
BTV R T ¢ 50 (&0 1
M
n ¢ 75 {5 T 1
M
n ¢ 50 {5 T 1
BB 1
RRAF T ¢ 50 0 3
TSHE T L ¢ 50 ] 24
Hhiate
S AR LA A T $ 250X ¢ 50 DIPEH {5 T 1
Hhiate
] $ 100X ¢ 50 DIPAE (00 1
U FR Rk E T 675 (&0l 2
n ¢ 50 {5 T 1




# H il
KRR & T 050 BERiE T (00 2
AWK B SR E T ¢ 250 DIPH] (&0 1
] $ 100 DIPH (&0 1
HERF RV L m 38.1
27 U — hHIFLT ¢ 75 t=50mm (150 1
] 675 t=150mm (00 2
] 675 t=500mm [0l 2
7Ly T conH 7 m3 0.01
UV ¢ confl t 0.02
16. {80 Fp =R
B MHI¥1E H=150 45 21
vy ayEd
HEE) ) ¢ 250 H=100 JE] 21
vy ayEd
T BB ¢ 250 H=150 ] 21
AV )
JEEAR $ 350 H=70 1 21
17. )RR L
=
LU ERE T HIE1E XH150 1 21
vy ayEd
HY) R ERE T SR RBE ¢ 250 X HL00 1 21
AV )
Y FERE T THBEE ¢ 250 X H150 1A 21
vy ayEd
LU ERE T JEAR ¢ 350 X H70 & 21

18. il KRB T




# H il
® 300~ ¢ 50
HKEER T Fo/KEL e L m
H
19. e+ T
AShIy -
AZE I T t=15cmE T m 310.
Pt AR AEREIRGA
SHEERRI D 81 T BHO. 28m3, t=10cmld | m2 93.
e ALEE T ASH™ 7, DTAt3EHE L=4. 9%km m3 5.
JUYa ¢ ASH” 7 t 11.
HEH D A% 3 BHO. 28m3
RAE T g 1 m3 71.
HEH ™ A% 3 BHO. 28m3
22 NERET R m3 55.
7E AL T B m3 71.
20. W EEREIET
BE NS AN
FJE T (i HEE) AR BRI EET AT, t=3cm m?2 93.
AT W= 8mAdili  pun #EIE
B AR T (iE #E) RM-30 t=12cm m?2 93.
AT W= 8mAdil  pun #EIE
T AR T (A EE) RC-40 t=10cm m?2 93.
21, WEEAAR T
BER B E T DIP ¢ 250 - SP250 m 24.
/] DIP ¢ 100 m 29.
] HPPE ¢ 100 m 6.
] HPPE ¢ 75 m 95.
WER% A B T DIP ¢ 250 - SP250 o
] DIP ¢ 100 5]




% fii
] HPPE ¢ 100 m] 3
] HPPE ¢ 75 =] 17
22. fiZEEIH T

AShIy -

AZE I T t=15cmE T m 13.0
Pt AR AEREIRGA

ARAE IR A T BHO. 28m3, t=10cmbl F m?2 200. 0

e ALEE T ASH™ 7, DTAt3EHE L=4. 9%km m3 9.0

JUYa ¢ ASH” 7 t 22.0
BEHII A5 3R BHO. 28m3

B PR H R A T TEED m3 1.0

7E AL T +rb m3 1.0
i AsAldt

AldE T TR 2 22 (20) t=5cm m2 200. 0

23. KR T

(A1

X H i SEH W=30cm m 2.0
X7 1kFEh (20. 4m)

X R i SR #% 15em m 20. 0




BEKE ¢ 250

(DCIP-GX)




Bk ¢ 250 ERAEHIB}H

EEEERR TR )
il K s It E GXikF AT 770 Mk EFfkF
4 i JEAR A B4 | ER |A-1-b B | 1B b [ pere | weeta | ovu | | me | s | me | o | o] o | ok | mel sk
SRR | B | TRAEES & [ 250 250 400 | 250 | 250 | 200 | 150 | DIP 250 | 75 | 250 | 75
(1) (2) 25045 7.5k | 7.5k | 200 | 2n
GX-DCIP ¢ 250
PN R AR T (m)
GXE & (IFEE) | ¢ 250X%5,000 PN 5. 000) 12 14 26|| 130. 000 26
PN TR AR T (m)
I $250%5,000 (GVEM) | A 5.000| 12.953| 5.628 5| 18.581 5
PN R AR T
GXJE i ¢ 250X 45’ 1 0. 570] 1 1|l 0.570 1
PN TR AR T
n $250%X22 1/2° 1 0. 460 1 1 o o0.920 2
PN R AR T
n 250X 11 1/4° 1 0. 410| — —
PN T R AR T
n $250X5 5/8 1 0. 410| 1 3 4 1.640 4
PN T R AR T
GXIE i =z i & ¢ 250X 45’ 1 0. 280] 1 1)l 0.280 2
PN T R AR T
n $250%X22 1/2° 1 0. 160 3 3| 0.480 6
PN TR AR T 0. 200] (1) W o0.200 1
OB T $ 250X ¢ 250 1 0. 660 1 i 0.660 1
PR R IR SE 0. 200]
n $ 250X ¢ 150 1 0. 560 1 i 0.560 1
GXJE &1 $ 250 T2 7.5K fi# 0. 100 1 1|l 0.100 1
GXJE HE2 $ 250 2 7.5K 1 0. 460 1 2 3 1.380
GXJE ik X ¢ 250 & 0. 250 1 1|l 0.250 2
GXIE i LT %% | ¢ 250X ¢ 200 1 0. 440 1 1]l 0.440 1
n $ 200X ¢ 150 1 0. 440 1 1| o.440 1
GXJE W27 b= ¢ 250 1 0. 300] 1 1 2 0.600 4
6 Z T LI7hv-utaif | ¢ 250 1 0. 630 1 1| 0.680 1
170 AT $250% ¢ 75 %x2) 7.5k @ 0. 470| 1 i 0.470
NGV e 250X ¢ 250 (FAL) DIPH 7. 5K i 0. 290 1 1 2l[ 0.580
Y7 bt ¢ 250 1 0. 380 1 1 o o.760 4
AWK $ 250 (DIPA)7. 5K & 1 1




Bk ¢ 250 ERAEHIB}H

X T 1 H B O 2R
il K s It E GXikF AT 770 Mk EFfkF
4 i JEAR A B4 | ER |A-1-b B | 1B b [ pere | weeta | ovu | | me | s | me | o | o] o | ok | mel sk
SRR | B | TRAEES & [ 250 250 400 | 250 | 250 | 200 | 150 | DIP 250 | 75 | 250 | 75
(1) (2) 25045 7.5k | 7.5k | 200 | 2n

BB T ¢ 150X ¢ 100 (DIPXPE) | 0. 860 1 ill o.860
AN ¥ v T ¢ 250 (DIPA) ] 1 L :
KIE Reik B (3DkNF) ¢ 250 i — _
GXTZ 74+ ¢ 250 i 0. 039 3 8 11f| o0.429
GXJE fRL 1)) ¢ 250 & 14 14
GXJE Bihtyh ¢ 250 H 26

[ ¢ 200 il 1 1

" ¢ 150 HH 1 1

SUS304 BN GFN y¥v 730y T
T B $250 7.5K 4 6 6
SUS304 BN RFN y¥v 730y T

" ¢ 75 7.5K e 1 1
R0 VU ¢ 400 m 63.8 63.8 63. 800
WEETA ¢ 250 m 10. 70 10.7 10. 695
BF45 A"V} ¢ 250 1 0. 500 10 10 5. 000
BFF—2" $ 250X ¢ 75 1 0. 545 1 1 0. 545
EFYFy b ¢ 250 1 18 18 18

i 675 1] 1 1 1
TR RS ¢ 25 1] 1 1
SR T $ 250 7. 5K 1 0. 500 2 2 1. 000 2
SR T $75 7.5K 1 0. 500 1 1 1
ALY WEETA250 /1 HH 4 4
HATBS AL WEETA250 4 2 2

DIPIER —Bf = v — S0

KA AT i E | 6250 m 160. 880—12. 50—4. 20—63. 80 80. 38




Bk ¢ 250 ERAEHIB}H

X T 1 H B O 2R
ALK HE &R GXAkTF: wieF | v T | BT
4 i TEAR~HE HArL| FE |- B | B || vere | oweera | oo | | e | me | mee | o o | o | ok | s
FEHA | AR | USEEES & || 250 250 400 | 250 | 250 | 200 | 150 | DIP 250 | 75 | 250 | 75
(1) (2) 25045 7.5k | 7.5k | 200 | 2n
ES U 2501 m (6.00X (1+0.2) /5. 00) X 80. 380 115. 75,
[ErENIaMS 2501 il ((4% (1+40.5) +5.00—1.00) /5.00) X 80. 380 161
FASE R — (819 — Rk
W RTT DCIP ¢ 2501 m 178. 120—2. 040 —0. 580 175. 50,
STRTAE R — {85 — Rk
IR~ W=150mm 2fFE41iA m 177. 240—2. 040—0. 580 174. 62
2t || 160.880 17.240] 63.800] 31| 26 1 1 1 6 | 18 1
250 | #IER || 79.300] 79.480] 19.340 178. 120
S || 79. 100 79.470] 18.670 177. 240




vIEHEFR 250 GX-DICP

& iF DCIP GX¥ o &% ¢ 250 BEE 5,000
BYE ZYE 9% ZUE ER&E BRE UIERiEY] | BUDH
&2 Sl MEtE ' ! il
mm mm mm mm mm mm O .
44 2391 169 860 880 700
1 2,391 | A-1 860 | A-1 880 | A-1 700 | A-1 4,831 169 J\ — : : o 4 2
am O % OO eO0
44 1401 1,249 1,020 1,330
2 1,401 | A-1 1,020 | A-1 1,330 | A-1 3,751 1,249 J\ | s | o 3 1
am O * O @O
4 4,371 629
3 4371 | A-1 4371 629 J\ —® 1
am O %
4 1,591 1,372 2,037
4 1591 | E 2037 | E 3,628 1,372 J\ | : - 2
am O 7% O
4 2,000 3,000
5 2,000 | E 2,000 3,000 J\ | - o 1
am O 5%
=11 11,754 | 54 6,827 | 64 18,581 6,419 11 3
DCIP EZ (GX-118%) 54 HWER 18581 m 2495y GX-DICP ¢ 100(17E%&) 44.49 ke/m X 6419 m = 28558 kg 029 t




BAAKE ¢ 250 BT

4 I JEIR - ~HE HAf =y = PXE a%ﬁ
GX-DCIP ¢ 250
) HEE
PRERE A 1 ¢ 250 m 160. 880 160. 880 160. 9
[EX=E
GXIEHET T ¢ 250 m] 31 31 31
HIE T
I $ 250 =] 26 26 26
HIE T
n ¢ 200 ] 1 1 1
BB
n ¢ 150 ] 1 1 1
LR R il
AH=h kT $ 250 m] 1 1 1
750y R $ 250 7.5K m] 6 6 6
Ze5 5
” 75 7.5K m] 1 — 1 -
e HELY
GXTEARFHE AN T ¢ 250 wl 14 14 14
Gl - 1R T UIEHEL Y
FRERE BT T $ 250 23A THIHEE m} 11 11 11
TN T 0D 2 UIEHE LY
n 6 250 231 T =] 3 3 3
f-G)FraxE T ¢ 250 Eos 5 5 5
I EAS T $ 250X ¢ 250 DIPH s 2 2 2
AWK B FpakE T ¢ 250 DIPMH J 1 1 1
RRAHEL S
ZER IR E T ¢ 25 J 1 1 1
K VIFVUA) -7 HERE T ¢ 250 m 80. 380 80. 38 80. 4
BRI DCIP ¢ 250 m 175. 500 175. 50 175.5
MRS — MRS W=15cm, % 7", 50m/%& m 174. 620 174. 62 174.6




g ; Ny e . EEF L
4 b JEIR - ~HE BT = DTN
it
)V EATER T WEETA 250A m 17. 240 = 17. 240 17.2
BERES QOikT)
BV BT T ¢ 250 (&5 18 = 18 18
WO T ¢ 250 (&5 4 = 4 4
AT MR E L ¢ 250/ (BB 2 = 9 9
EF 20fkF
K)oV T T $ 75 tEFT 1 = 1 1
Mt
gt | A e = VU ¢ 400 m 63. 800 = 63.800 63.8
VIV FEIE SR m3 7 /4% (0.400°2—0. 270°2) X 63. 80 = 4.364 4.36




BEAKE ¢ 150

(DCIP-GX)




Bk ¢ 150 BERSHBH

1. 940

X i B FRE O
Pl KA B SiE GXHETF: REA: i
4 g FER =Tk B BE [or—1 #E [ ocrp e | e | ok o] o e o
FERE =4 150 150 | 150 [ HPPE| VP | DIP | 150 | 75
(2) 150 | 150 |1504%| 7.5k | 7.5k
GX-DCIP ¢ 150
PN (R U4
GXJE i ¢ 150X 45° il 0. 470, 1 il o.470 1
PN iy AR s 0. 200 (1) (| o.200 1
GXJE 2T $ 250X ¢ 150 i 0. 660) _
6XIE AT L7 h-u g | ¢ 150 i 0. 550 1 1)l 0.550 1
RFEMT ¢ 150 (PEA) i 0. 720, 1 1l 0.720
K )zFvya)-7" i ¢ 150 m 1. 940 1. 94
F)xFLya)-7" ¢ 150 m (6.00X (140.2) /5. 00) X 1. 940 2.79
[E T2 bV ¢ 150/ HH ((4X% (140.5) +5.00—1.00) /5. 00) X 1.940 4
EHRT-T DCIP ¢ 150 m 1. 940 1. 94
S AR
LRS-} W=150mm 2f54riA m 1. 940 1.94
3 1. 940 3
150 | #IEE 1. 940 1.940
PR 1. 940




BAAKE ¢ 150 BT

% I JEIR - ~HE HAf =y = PXE EJ%
GX-DCIP ¢ 150
) HEE
PRERE AR T ¢ 150 m 1. 940 1. 940 1.9
BB
GXIEHET T ¢ 150 m] 3 3 3
K VIFVUA) -7 HERE T ¢ 150 m 1. 940 1.94 1.9
BRI DCIP ¢ 150/ m 1. 940 1.94 1.9
MR F RS — MRS T W=15cm, % 7 W, 50m/%& m 1. 940 1.94 1.9




BERHFE

)Y BT

freEa > ') — bEFi

S=1:10
500 a9 1)— 18N-8-40BB
115, 2710 115
DIP-GX# ¢ 250 ‘ ‘
/ Ly
@ %
_ —1
i I
100! 500 !100
700 HEERE RC-40
17040
T FE AR~ & K g | BN
[ 7)-1Bha# 1] 12.5+4.2 16.70| m
a7y —F 18N-8-40BB (0.500 X 0.500— 7 /4% 0.270°2) X 16.70 3.22 | m3
R T — AP, EAREEY) 10.500 X 16.70 X 2+ (0.500 X 0.500— 7t /4 X 0.27072) X 4 17.47 | m2
JERE A RC-40, t=10cm 0.700X 16.70 11.69 | m2
TR (T8 1.=3.33m)
a7y =} 18N-8-40BB (0.500 X 0.500— 7 /4X0.270°2) X 3.33 0.64 | m3
RIMET — AR RS EY) 10.500X3.33 X 24(0.500 X 0.500— 7t /4 X 0.270°2) X 2 3.72 | m2
JERE A RC-40, t=10cm 0.700% 3.33 2.33 | m2




BERHFE

)Y BT

pieEa o) — b

i

S=1:10

500

2 y— b 18N-8-408B

SR

RC-40, t=10cm

|90 30
MEETA 250A o=
e | al
g 8
DI
JI | | !'._' lr_!rf ."] I 31
1100 5@ moj
700 KEBRE RC-40
17040
T FE AR~ & K g | BN
[ 7)-1Bha# 1] 5.7+6.0 11.70 | m
a7y —F 18N-8-40BB (0.500 X 0.500— 7t /4% 0.320°2) X 11.70 1.98 | m3
AT — AR RS 10.500X 11.70 X 24(0.500 X 0.500— 7 /4 X 0.320°2) X 4 12.38 | m2
0.700 % 11.70 8.19 | m2




BERHFE

)Y BT

a5 ) — bR

5=1:10

SR

RC-40, t=10cm

400 a4 1)—k 18N-8-40BB
115170 115
DIP-GX# ¢ 150 ‘ ‘
7
(=]
D :
i i
100 400 100
600 HEEEE RC-40
17040
T FE AR~ & K g | BN
[ 7)-1Bha# 1] 0.45 0.45| m
a7y —F 18N-8-40BB (0.400 X 0.400— 7t /4X0.170°2) X 0.45 0.06 | m3
AT — R, MRS 10.400X0.45 X 2+ (0.400 X 0.400— 7 /4 X 0.17072) X 2 0.63 | m2
0.600 X 0.45 0.27 | m2




BLAKE ¢ 150




Bk ¢ 150 BERSHBH

X i B FRE O
B K& SiE A 7707
A N FR~TE AL BE [p2r—r HPPE AT D% ok | nd| 0%k | ok | 0k
ZEH 150 150 | 150 | HPPE| VP | DIP | 150 | 75
(2) o | 1e | 150 | 150 | 150 | 7.5k | 7.5k
EF-HPPE ¢ 150
YAz (m)
HPPEE. 4% $ 150X 5. 0m N 5. 000 — —
YAz (m)
HPPEE & $150X5. 0m (WIEA) | A 5.000] 13.37 4 13.370
EF gz~ v) $ 150X 45 i 0. 620 1 1]l 0.620 1
EF [z vh $ 150X 45 i 0. 460 2 2 0.920 4
” $150%X22 1/2° i 0. 380) - —
” $150X 11 1/4° i 0. 340 2 2l 0.680 4
EFF-2" 150X ¢ 75 i 0. 500 1 1]l 0.500 2
EFV)y b ¢ 150 {1 2 2 2
e ¢ 150 (1) 7. 5K {1 0. 340 1 1ff 0.340 1
AWK EIT 6150% ¢ 150 (VR PEA 7.5k | il 0. 400 1 1]l 0.400
SUS304 BN REA vk 7505 T
V) 6150 7.5K i1 1 1
FIER — ARk
ERTT HPPE ¢ 150 m 16. 830—0. 400 16. 43
wr=74v)" 94— m 16. 43
FHEAER — AWK
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TH [E] + T F 5
+rT-1|+T-2| LT3 £T4| £T-5| £T-6| =T-7| T8 = T.-9| £T-10[ -T-11| ET-12[ =T-13| £ T-14f - T-15| £ T-16] = T-17| £ T-18] £ T-19| - T-20| £ L-21| ARik-1| FWik-2 | Rlik-3| FEik-1 FHik-6
" e aaf ve o 0 o,z vw s 0 o,z vw s 0 o, 2] vw s 0 o, o] vw 0 e, [R— [V R [ (p— p—r—— - Y |y 3 A
E4 kin 2INDR7S Hfir| A3
st | shumigs | iEAs | st | A | sheniss | drEAs | A | seis | drEAs | A | dias | s | iEAs | dedias | stese | esiss | dodas | dEAs | tiEas | dedas | diEAs | tiEAs | dedas | dEAs | iEas | dnias
<tT>
ASEThy4-
BRI T t=16cmE T 87.62| 40.00| 5.06] 30.64| 12.86| 6.66] 45.00|153. 10| 19.56] 4.88| 2.98| 33.66| 27.18 3.42| 39.48[ 11.18] 0.90| 13.40| 6.80| 6.40| 9.80| 6.60[ 10.00] m 577.18 580.
PR A SR R I RA
SREERIR D B2 L T [BHO. 28m3, t=10cmbd | 28.48| 13.00| 3.04| 18.38| 7.72| 4.33| 13.50| 45.93| 10.27| 2.81| 0.89] 10.10] 8.15 1.03 11.84| 3.35] 0.50| 6.90| 1.88] 2.52| 4.02] 2.70| 4.39] m2| 205.73 206.
P AEL T ASH™ 7, DT4t 3B L= km 1.45| 0.66] 0.15| 0.92] 0.39| 0.22| 0.68] 2.30] 0.52| 0.14] 0.04| 0.50] 0.41 0.05[ 0.59] 0.17| 0.02| 0.35| 0.09] 0.13] 0.20] 0.14] 0.22| m3 10. 34 10.
oyt ASH 5 3.41| 1.55| 0.35] 2.16] 0.92| 0.52] 1.60| 5.41| 1.22] 0.33] 0.09] 1.18] 0.96 0.12| 1.39] 0.40] 0.05] 0.81] 0.22] 0.30] 0.47| 0.32] 0.52| t 24.29 24.:
R A5 BHO. 28m3
PRI T YR 30.60| 2.18| 27.64| 12.62| 3.39] 20.50| 9.53| 7.30| 10.40| 35.37| 9.76| 4.18| 0.82| 9.39] 5.22| 0.26] 3.75| 0.69| 9.59| 4.06| 0.56] 9.63| 2.28| 3.22| 5.63| 3.95 6.87
BRI AR BHO. 28m3
n Yt HEF R 1.96] 0.49 0.27
e 205 BHO. 28m3
l YR 32.56] 2.67| 27.64] 12.62| 3.39] 20.50] 9.53| 7.30| 10.40| 35.37| 9.76| 4.18| 1.09] 9.39| 5.22| 0.26] 3.75| 0.69] 9.59] 4.06] 0.56| 9.63| 2.28| 3.22| 5.63] 3.95| 6.87| m3| 242.11 240.
e A0 5 BHO. 28m3
A NBRET, H AR, o 26.28| 1.95| 15.86] 7.24| 1.97| 11.92| 5.93| 5.36| 6.84| 23.27| 5.97| 3.19] 0.61| 6.95 3.51| 0.26] 3.72| 0.48| 7.17| 3.37| 0.36| 8.23| 1.90| 2.74| 4.79] 3.41| 5.98
e 205 BHO. 28m3
[ AR, BN HEFIE 1.96[ 0.49 0.27
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" FAR, b Eh 28.24| 2.44| 15.86] 7.24| 1.97| 11.92| 5.93| 5.36| 6.84| 23.27| 5.97| 3.19| 0.88| 6.95 3.51| 0.26] 3.72| 0.48| 7.17| 3.37| 0.36| 8.23| 1.90| 2.74| 4.79] 3.41| 5.98) m3| 171.98 170.
P A ALER T +-wp 30.60| 2.18| 27.64| 12.62| 3.39] 20.50| 9.53| 7.30| 10.40| 35.37| 9.76| 4.18| 0.82| 9.39] 5.22| 0.26] 3.75| 0.69| 9.59| 4.06| 0.56] 9.63| 2.28| 3.22| 5.63| 3.95 6.87
l b kT 1.96[ 0.49 0.27
[ b Et 32.56] 2.67| 27.64| 12.62| 3.39] 20.50] 9.53| 7.30| 10.40| 35.37| 9.76| 4.18| 1.09] 9.39| 5.22| 0.26] 3.75| 0.69] 9.59] 4.06] 0.56| 9.63| 2.28| 3.22| 5.63| 3.95| 6.87| m3| 242.11 240.
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ANT3 W=L8moARdH v BRIE
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<A T >
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R BEIA - 315 T | FARE=2. B m
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HR T ik s T | IR BYAR=2B m
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R T s T | ERIB B0 m
RO R BREE IR ARAM AR H=2. Om 0.55] 0.83] t 1.38 L.
ERGABR BRSO H=2. 5 t
SR T EEE SRR A 0.09] 0.14] t 0.23 0.
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+T- 5 6X 6250 BH=0.28m3 (Baavs)—}) | MEFIR T
HiiEAs[DL= 0. 68 +TR 2.53 m
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+T-9 VU 200 - HPPE ¢ 100 BI=0. 283 | U i
EEIBE E |DL= 0. 60 +TE 22. 50 m
+T- 10 VU 200 - HPPE ¢ 100 BI=0. 283 | MU &
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sl 0. 66 LTE 1.30 2.90 5.58 m
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MiiEAs [DL= 1. 20 +TR 2. 44 m
+T- 13 GX ¢ 150 BH=0. 28m3 kS 3 &
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+T- 14 HPPE ¢ 150 BH=0. 28m3 kS &
ifii&As|DL= 0.80 LTE 16. 83 m
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AL T +w m3 9.63 |9.626 = 9. 626

<GhEEIR T >
ERCIDNIVIN NS

)8 T (8 HE) PR AR EET A7y t=3cm, PK-3 m2 6.90 [1.600X3.000+2.100X 1.000 = 6. 900
ANFT W=L. 8mAi;  fvn EmJE

FERE T (HEHE)  [RM-30 t=12cm m2 6.90 |1.600%3.000+2.100X1.000 = 6.900
ANFT W=L. 8mAi;  fvn EmJE

TEgE T (HiEHE)  [RC-40 t=10cm m2 6.90 |1.600X3.000+2. 100X 1.000 = 6. 900
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AWK+ T (2) ¢ 150X ¢ 150 (BHO. 28m3) ¥ OB P HE E 15 4
4 PR Bikg - <1k Hir| % & 7 A X

<tT>
Ashitiyy-

ElidLBIMr T t=15cmE T m .80 |2.300x241.100x2 = 800
PEn™ Ak KA B HI DA

Ashi D 82 L T BHO. 28m3, t=10cmPd F m2 .88 |1.000X1.100+41.300X0. 600 = 880

As7k m3 .09 [(1.000X 1. 100+ 1. 300 X 0. 600) X 0. 050 = 094

AsTRAL 5y t .22 [0.094X2. 35 = 991
+m

SR T BHO. 28m3 m3 .28 | (1.000X 1. 100+ 1. 300 X 0. 600) X (1. 280—0. 050) — 7 /4X 0. 180" 2X 1. 100 = . 284
P

BT BHO. 28m3 % > /X#AE m3 .90 |(1.000X 1. 100+ 1. 300 X 0. 600) X (1. 280—0. 250) — 7 /4 X 0. 180" 2X 1. 100— 7 /4X 0. 180°2X0.36 = . 899

B AL T T m3 .28 |2.284 = 9284

<HHIEEIAT >
ESTEIUNIVIS AR

g L (A8 #E) BRI BT 23V t=3cm, PK-3 m2 .88 |1.000X1.100+41.300X0. 600 = 880
AT W=L8mAl v HRE

A T (B HE)  |RM-30 t=12cm m?2 .88 |1.000X 1. 100+ 1. 300X 0. 600 = 880
AT W=L8mAl v dRE

TERAE T (T HE)  [RC-40 t=10cm m2 .88 |1.000X 1. 100+ 1. 300 X 0. 600 = 880

<IREXL>
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AWK+ T (3) ¢ 250 (BHO. 28m3) 5
4 PR Kk - Tk B s

<tT>
Ashitiyy-

AL T t=15cmE T m .40 |1.400x2+1.800X 2 400
PeH AR E R HIAA

AshRIRLY 2L T BHO. 28m3, t=10cmPd F m2 .52 [1. 400X 1. 800 520

As#g m3 .13 |1. 400X 1. 800X 0. 050 . 126

AsiBAL Gy t .30 10.126x2.35 296
R

JEHIT BHO. 28m3 m3 .22 |1.400X1.800 X (1.370—0. 050) — 7 /4X0.270°2X 1. 800 993
B AR

MR T BHO. 28m3 & > /SUifE m3 .74 |1.400X1.800 X (1.370—0. 250) — 7 /4X0. 270"2X 1. 500 737

B T ALEE T R m3 .22 |3.223 993

<HEFEAEIHT >
ESCEUNIIVAN IS

g L (A8 #E) FABBIE 22/ t=3cm, PK-3 m2 .52 |1. 400X 1. 800 590
AJ1 W=1.8mAdm  fun dEE

AR T (A HGE)  [RM-30 t=12cm m2 .52 |1.400x1.800 5920
AJ1 W=1.8mAdm  fun dEE

TERAE T (T HE)  [RC-40 t=10cm m2 .52 |1.400x1.800 5920
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AWK+ T (4) ¢ 250 X ¢ 250 (BHO. 28m3) =
4 gy HHE - ~HE BAAT s

<tT>
AshiUhyh-

AL T t=15cmE T m .80 |1.300x2+3.600X2 800
BEHID At SR B AR IR A

AshRE W L T BHO. 28m3, t=10cmbh F m2 .02 |1.300X1.400+2. 200X 1. 000 020

AsEy m3 .20 |(1.300%1.40042. 200X 1. 000) X 0. 050 . 201

Asik Bl 5y t .47 10.201x2.35 . 472
+w

JRE T BHO. 28m3 m3 .63 |(1.300X1.40042. 200X 1. 000) X (1.470—0. 050) — x /4 X 0. 270" 2X 1. 300 . 634
A

HRET BHO. 28m3 ¥ /SiiEfE m3 .79 |(1.300X1.400+2. 200X 1. 000) X (1. 470—0. 250) — 7 /4X0.270°2X 1. 300— 7 /4X 0. 270"2X 0. 640 793

A T +wp m3 .63 [5.634 634

<EHEEHEIHT >
#IE NS v HAY

<)@ T (T HE) FABRIET ATV t=3cm, PK-3 m2 .02 [1.300X1.40042. 200X 1. 000 020
AT W=18mATl pun R

b A T (i RM=30 t=12cm m2 .02 |1.300X1.400+2. 200X 1. 000 1020
AT W=18mATl pun R

TEBET (hHEE RC-40 t=10cm m2 .02 |1.300X1.400+2. 200X 1. 000 020
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AWK LT (5) ¢ 100 (BHO. 28m3) &
4 PR Kk - Tk B =

<tT>
Ashitiyy-

AL T t=15cmE T m .60 |1.800X2+1.500X2 600
PEn™ Ak KA B HI DA

Ashifiu W #E L T BHO. 28m3, t=10cmLA m2 .70 |1.800X 1. 500 700

As#g m3 .14 ]1.800X1.500X0. 050 . 135

AsTRAL Sy t .32 ]0.135%2.35 317
+m

JEHIT BHO. 28m3 m3 .95 |1.800X1.500% (1.520—0. 050) — 7 /4X0. 120"2X 1. 800 949
B AR

HE T BHO. 28m3 % > /X#AE m3 .41 ]1.800X1.500X (1.520—0.250) — 7 /4X0.120°2X 1. 500 . 412

AT B m3 .95 [3.949 1949

<HEFEAEIHT >
ESTEIUNIVIS AR

g L (A8 #E) BRI BT 23V t=3cm, PK-3 m2 .70 |1.800X 1. 500 700
AJ1 W=1.8mAdm  fun dEE

BT (hE#E)  [RM-30 t=12cm m2 .70 [1.800X1.500 700
AJ1 W=1.8mAdm  fun dEE

TEEAE T (B #E)  [RC-40 t=10cm m2 .70 [1.800X1.500 700

<frEx T >

BB AR ERA T R E=2. Om m .30 |1.800+1.500 300

[ e PN GIE an KA E=2. Om m .30 |1.80041.500 300

Scf T (B0 BRE - s T BRI B =18 m .60 |1.800Xx2+1.500X%2 600

bR T (G1) BRE - E T BB B =18 m .60 |1.800X2+1.500X2 600

R A AR B R ESARAR H=2. Om t .55 |6.600/0.250X2.0X0.0104 549
fERk L

TR L ER W 80X HI30 0.0060t/m (1.730 X2+ 1. 430X 2) X 1X0. 0060 038
L0. 85~L1.40 0.011kg/A 2X1%0.0110 022
L1.32~L2.23 0.014kg/A 2X1X0.0140 028
XfRb  EE t .09 [0.03840.022+0. 028 088
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KWK+ T (6) 6 100X ¢ 100 (BHO. 28m3) Wo& B B O#E 1P Y
4 hin HIkg - <1k HBAL| 2 = =1 =X

<+T>
Ashihy -

EEEE T t=15cm¥E T m 10.00 [2.300X2-+2.700X% 2 = 10.000
BED AR B B R HIR A

AshiREU Y 2 1L T BHO. 28m3, t=10cmPA T m?2 4.39 |1.400X2.300+1. 300X 0. 900 = 4. 390

Asik m3 0.22 |(1.400%2.30041.300X0.900) X0. 050 = 0. 220

AsEERALSY t 0.52 [0.220x2.35 = 0.517
R

PRHI T BHO. 28m3 m3 6.87 | (1.400X2.30041.300X0.900) X (1.620—0.050) — 7 /4X0.120°2 X 2. 300 = 6. 866
AR

WRERT BHO. 28m3 & > /\#A [T m3 5.98 |(1.400X2.300+1.300X0.900) X (1.620—0.250) — 7 /4X 0. 120"2X2.300— 7 /4X0.120°2X0.380 = 5.984

R ALEE T 1w m3 6.87 |6.866 = 6. 866

<EHFEMHEIHT >
ERCINIVIN NS

F)E T (hEHE) TRk ETATY t=3cm, PK-3 m2 4.39 |1.400X2.300+ 1. 300X 0. 900 = 4. 390
AT W=l 8mAt; Jvn EmE

BB T (HEHE)  |RM=30 t=12cm m2 4.39 |1.400Xx2.300+1. 300X 0. 900 = 4. 390
AT W=l 8mAt; Jvn EmE

TEBET (HiEHE)  |RC-40 t=10cm m2 4.39 |1.400X2.300+1. 300X 0. 900 = 4. 390

<{REEXT.>

128 B B R AR A T KA E=2. Om m 5.00 [2.300+2.700 = 5. 000

[ NG FAE=2. Om m 5.00 [2.300+2.700 = 5. 000

TR (HEED B2 - R T (R B =1 B, m 11.80 [2.300X2+1.400%X241.300X2+0.900X 2 = 11.800

TR (T) B - s T3 B =1 B, m 11.80 [2.300X2+1.400%X241.300X2+0.900X 2 = 11.800

2 AR kL BB AR H=2. Om t 0.83 [10.00/0.250%2.0X0.0104 = 0. 832
Rk L

TR TSR W 80X H130 0.0060t/m (2.230X241.330X2+1. 300X 240. 830X 2) X1X0.0060 = 0. 068
L0. 56~10.92 0. 0088kg/A 2X1X0.0088 = 0.018
L0.85~L1.40 0.011kg/A 2X1X0.0110 = 0.022
L1.32~12.23 0.014kg/A 2X1X0.0140 = 0.028
TURM t 0.14 [0.068+0.01840.02240. 028 = 0.136




B E 5

SRR IERER
i -
izt ELGEUIZEE Ei {ERIERLE ISR UST 15?52%) 5 SFEEE
it Wi UFEE EORE-AS bk BEES TLUE (cm) (kg) = (cm) (“ (kN)
= (kg) (em?) {em®) (em?) (kN/mm?) cm)
130x80x4000 24.0 | 24.0/4=6kg/m 13080 49~63 57~71
N33-47WS 33~47 7.15
130x80x3000 18.0 130x120 57~71 65~79
22.5 249.4 60.8
12.0
i) 130%80 60~85 68~93
130x80x1800 11.0 N44-69WS 44~-69 7.6
130%120 68~93 76~101
130x120x4000 33.0
130%80 72~108 80~116
130x120x3000  25.0 St s s, || N56-92WS 56~92 8.8 80
130x120%2000  17.0 130%120 80~116 88~124
130x120x1800  15.0 130x80 101~156 109~164
N85-140WS 85~140 11.0
130%120 109~164 117~172
140x160=6000 68.5 42,3 1721.9 215.2 130x80 148~-239 156~247
N132-223WS 132~223 14.0
130x120 156~247 164~255
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iy . AR B
4 g JEIR - <k P
JER
BERR I T DIP ¢ 250 - SP250 24. 20 24. 200 24.2
JER
" DIP ¢ 100 15. 00 29. 100 29. 1
JER
" HPPE ¢ 100 6. 60 6. 600 6.6
JER
" HPPE ¢ 75 95. 20 95. 200 95. 2
BERR A BT 1 DIP ¢ 250 + SP250 24. 20 6 6
" DIP ¢ 100 29. 10 6 6
" HPPE ¢ 100 6. 60 3 3
" HPPE ¢ 75 95. 20 17 17
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BT WE b T2 | ME RT3 BT MBS
| g A= Stk B
% R Ttk L&A N AR
73 A | THE S | T | 3 | i e
<+TIr>
AShUhy4—
T T t=15cmE T 48.40| 30.00[ 28.20| 13.20]190. 40 m 310. 20 310. 0
BRI AR R I RGA
SHTERR LY £ L T |BHO. 28m3, t=10cmPA T 14. 52 9.00 8.46 3.96] 57.12 m2 93. 06 93. 0
FE AT ASH 7, DT4tiEH L= km 0.73 0. 45 0.42 0.20] 2.86 m3 4. 66 5.0
Wyt ASH™ 7 1.72] 1.06] 0.99] 0.47] 6.72 t 10. 95 11.0
HEHD AR BHO. 28m3
PRAE T wHE+ 13. 43 7.67| 10.59 3.40f 35.99 m3 71.08 71.0
HEH AR BHO. 28m3
22 MR T BA N, N 11.91] 6.03[ 9.05] 2.69] 25.13 m3 54. 81 55.0
7 - 4LEE T b 13.43| 7.67| 10.59] 3.40| 35.99 m3 71.08 71.0
< AR IR T >
B3 ANJ) v E AN
T (hEEE) | FAEBRI A2 t=3cm, PK-3 14.52 9.00| 8.46 3.96| 57.12 m?2 93. 06 93.0
AJT W=1.8mA  pvn HREE
@ A T (i ) |RM=30 t=12cm 14.52 9. 00 8. 46 3.96| 57.12 m?2 93. 06 93.0
AJT W=1.8mA  pvn HREE
FRE 8 T (fE sE) [RC-40 t=10cm 14.52 9.00|] 8.46] 3.96| 57.12 m2 93. 06 93.0
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WE+T-1 + T ¥ & B H OE 1. 054 v
TR B R R E (1m4Y) T i e 51 1 n ot i e
DIP ® 250 T 0.80 m
<+T>
TTIER L TEREEFLY = 2420 AshRy -
PR A& 0.800+0.270+0.000—0. 050 — 1. 020 m |4fsE6nm T t=15cmE T 2 X 1.0 2.0 m 48. 40
MR (# % ) 1.070—0.030—0. 120—0. 100 0.820 m R ARHEER BB NIRSA
Ashi Y 8 1L T BHO. 28m3, t=10cmLk 0.600 X 1.0 .600] m?2 14. 52
fkFE N = — f&ipT Asik VIR T, 0.600 X 0.05 X 1.0 .030] m3 0.73
AsTHRALER T 0.73 X 2.35 .716] t 1.72
BRT (4 )
B H L BHO. 28m3 ( 0.600 X 1.020 - 0.057 )X 1.0 .555| m3 13. 43
fEL T B2
e MR T BHO. 28m3 % L /HEJE 0.600 X 0.820 X 1.0 .492] m3 11.91
B EEL
—————— P& ALBE T T ( 0.555 — /0.9 )X 1.0 .555| m3 13. 43
AsHiE 600 . B (EEEHEAS)
Q S ang w0 |<HFH LT>
=4 =t +w H L
E%j T BHO. 28m3 0.600 X 0.300 X 0.500 X 1.0 090 m3 —
= A H L
§§ _— gé MR T BHO. 28m3 % L /HEJE 0.600 X 0.300 X 0.500 X 1.0 .090| m3 —
B
g ( P VBT - ( 0.090 — /0.9 )X 1.0 .090| m3 —
<EfFRAEIH T >
DEIP 250 HE NS b AL
FET(MEHEE)  |FAEBRETAY t=3cm, PK-3 0.600 X 1.0 .600] m2 14. 52
ANF7 W=l 8mAd  pvn d5/E
B PERR 0.270 °X = /4 = 0.057 (DIP ¢ 250) | L@ B T (il diE) |RM-30 t=12cm 0.600 X 1.0 .600] m2 14. 52
ANF7 =L 8mAd  Jun d5E
R A T (i gi#) [RC-40 t=10cm 0.600 X 1.0 .600] m2 14. 52




1 il + T ¥ & B H OE 1. 054 v
fOTOHOR B R OE (1mdv) | T i #l Al i Ol e
DIP $100  E#EYv 0.80 m
<+T>
TTHE L TEEERHFELY = 1500 m Ashihys-
T H & 0.800+0.12040.000—0. 050 = 0.870 m |&H%E L)k T t=15cm¥E T 2 X 1.0 2.0 m 30. 00
MR (# % 1) 0.920—0.030—0. 120—0. 100 0.670 m BEHUD A BRI A
Ashi Y 8 1L T BHO. 28m3, t=10cmLk 0.600 X 1.0 .600] m?2 9. 00
fkFE N = — f&ipT Asik VIR T, 0.600 X 0.05 X 1.0 .030] m3 0. 45
AsTRALVEL T 0.45 X 2.35 .058] t 1.06
R (B HERR)
B H L BHO. 28m3 ( 0.600 X 0.870 - 0.011 )X 1.0 .511] m3 7.67
HWELXT-2 AR
T BT BHO. 28m3 % L /HEJE 0.600 X 0.670 X 1.0 .402] m3 6.03
A EEL
- T P AT T ( 0.511 — /0.9 )X 1.0 .511] m3 7.67
AR 600 B (BB
= Vi T T
X g T i L
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g ol B \ 7o) o H AR H L
= @ o 2 B BT BHO. 28m3 % L /HEJE 0.600 X 0.300 X 0.500 X 1.0 .090| m3 —
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= P AT - ( 0.090 — /0.9 )X 1.0 .090| m3 —
Rl < SRR IR T >
HIE NS N AN
FET(MEHEE)  |FAEBRETAY t=3cm, PK-3 0.600 X 1.0 .600] m2 9. 00
ANF7 W=l 8mAd  pvn d5/E
B YRR 0.120 °X z /4 = 0.011 (DIP ¢ 100) | bJ@Hsi T (il diE) |RM-30 t=12cm 0.600 X 1.0 .600] m2 9. 00
ANF7 =L 8mAd  Jun d5E
R A T (i gi#) [RC-40 t=10cm 0.600 X 1.0 .600] m2 9. 00
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MEE (2 ) 1.320—0.030—0. 120—0. 100 1.070 m BEHUD A BRI A
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DE1P¢ 100] FET (HEEE)  |FAEgkE72a, t=3cm, PK-3 0.600 X 1.0 .600| m2 8. 46
ANTI W=1. SmAH  pun BBt
B HERR 0.120 °X /4 = 0.011 (DIP ¢ 100) | L T (i@ EE) |RM=30 t=12cm 0.600 X 1.0 .600| m2 8. 46
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